

n 310 (Матв.)

$$x^2 y' = x^2 y^2 + xy + 1$$

$$y' = y^2 + \frac{1}{x}y + \frac{1}{x^2} \quad (1)$$

1. $y_* = \frac{d}{x} \rightarrow (1)$

$$-\frac{d}{x^2} = \frac{d^2}{x^2} + \frac{d}{x^2} + \frac{1}{x^2}$$

$$d^2 + 2d + 1 = 0$$

$$d = -1 \quad y_* = -\frac{1}{x}$$

2. $y = z + y_* = z - \frac{1}{x} \quad z = z(x)$

* $y = z - \frac{1}{x} \rightarrow (1)$

$$z' + \frac{1}{x^2} = z^2 - \frac{2}{x}z + \frac{1}{x^2} + \frac{1}{x}z - \frac{1}{x^2} + \frac{1}{x^2}$$

$$z' = z^2 - \frac{1}{x}z \quad (2)$$

$$y' = a(x)y^2 + b(x)y + c(x)$$

$$y' = Ay^2 + \frac{B}{x}y + \frac{C}{x^2}$$

$$y_* = \frac{d}{x}$$

3. 1) $z=0$

2) $\frac{z'}{z^2} = 1 - \frac{1}{x} \cdot \frac{1}{z}$

$$u = \frac{1}{z}$$

$$u' = -\frac{z'}{z^2}$$

$$z = \frac{1}{u}$$

$$-u' = 1 - \frac{1}{x} \cdot u$$

$$u' = \frac{1}{x}u - 1 \quad (3)$$

a) $u' = \frac{1}{x}u$

$$\frac{du}{u} = \frac{dx}{x}$$

$$\ln|u| = \ln|x| + \ln|C|$$

$$u = C \cdot x$$

b) $u = C(x)x \rightarrow (3)$

$$C'(x) \cdot x + C(x) = C(x) - 1$$

$$C'(x) = -\frac{1}{x},$$

$$C(x) = -\ln|x| + \tilde{C}$$

$$u = \tilde{C}_1 x - x \ln|x|$$

$$z = \frac{1}{x(C - \ln|x|)}$$

$$\left\| \begin{array}{l} z=0 \\ z = \frac{1}{x(C - \ln|x|)} \end{array} \right.$$

↘ (*)

$$y = -\frac{1}{x}$$

$$y = -\frac{1}{x} + \frac{1}{x(C - \ln|x|)}$$

№307 (номер)

$$y' = y^2 - xy - x \quad (1)$$

1. $y_x = \underline{ax + b}$,

$$a = a^2x^2 + 2abx + b^2 - ax^2 - bx - x$$

$$(a - a^2)x^2 + (b - 2ab)x + a - b^2 = -x$$

$$x^2: \begin{cases} a(1-a) = 0 \\ b(1-2a) = -1 \\ a - b^2 = 0 \end{cases}$$

$$x: \quad b(1-2a) = -1$$

$$x^0: \quad a - b^2 = 0$$

$$\begin{matrix} a = 1 \\ b = 1 \end{matrix}$$

$$y_x = x + 1$$

2. $\boxed{y = z + x + 1} \quad (2) \rightarrow (1)$

$$z' + 1 = z^2 + x^2 + 1 + 2zx + 2z + 2x - xz - x^2 - x - x$$

$$z' = z^2 + (x+2)z \quad (3) \quad 1) z = 0$$

2) $\boxed{u = \frac{1}{z}}$ $z = \frac{1}{u} \rightarrow (3): u' = -(x+2)u - 1 \quad (4)$

a) $u' = -(x+2)u - 1$
 $\frac{du}{u} = -(x+2)dx$
 $\ln|u| = -\frac{x^2}{2} - 2x + \ln|C|$

$$u = C \cdot e^{-\left(\frac{x^2}{2} + 2x\right)}$$

б) $u = c(x) e^{-\left(\frac{x^2}{2} + 2x\right)} \quad (5) \rightarrow (4)$

$$c'(x) e^{-\left(\frac{x^2}{2} + 2x\right)} = -1$$

$$c'(x) = -e^{\frac{x^2}{2} + 2x}$$

$$c(x) = -\int e^{\frac{x^2}{2} + 2x} dx + \tilde{c} \rightarrow (5)$$

$$u = C \cdot e^{-\left(\frac{x^2}{2} + 2x\right)} - e^{-\left(\frac{x^2}{2} + 2x\right)} \cdot \int e^{\frac{x^2}{2} + 2x} dx$$

$$\parallel \frac{1}{z}$$

$$\boxed{y = x + 1}$$

$$\boxed{y = \frac{e^{\frac{x^2}{2} + 2x}}{C - \int e^{\frac{x^2}{2} + 2x} dx} + x + 1}$$

№ 308 (М. амб.)

$$xy' = y^2 - (2x+1)y + x^2 + 2x \quad (1)$$

1. $y_x = ax + b \rightarrow (1)$

$$ax = a^2x^2 + 2axb + b^2 - (2x+1)(ax+b) + x^2 + 2x$$
$$(2a - a^2)x^2 + (2a + 2b - 2ab)x - b^2 + b = x^2 + 2x$$

$$\left. \begin{array}{l} x^2: a(2-a) = 1 \\ x: 2(a+b-ab) = 2 \\ x^0: b(1-b) = 0 \end{array} \right\}$$

$b=0, a=1 \quad y_x = x$

2. $y = z + x \quad (2) \rightarrow (1)$

$$x(z' + 1) = (z+x)^2 - (2x+1)(z+x) + x^2 + 2x$$

$$xz' = z^2 - z$$

$$xz' = z(z-1) \quad (3)$$

1) $z=0$ 2) $\frac{dz}{z(z-1)} = \frac{dx}{x}$
 $z=1$

$$\int \frac{dz}{z(z-1)} = \int \left(\frac{-1}{z} + \frac{1}{z-1} \right) dz = \ln|z-1| - \ln|z|$$

$$\ln|z-1| - \ln|z| = \ln|x| + \ln|C|$$
$$\frac{z-1}{z} = C \cdot x$$

$$z=0$$

$$\frac{z-1}{z} = C \cdot x \rightarrow (2)$$

$y = x$

$$\frac{y-x-1}{y-x} = C \cdot x$$

$$1 - \frac{1}{y-x} = C \cdot x$$

$$1 - Cx = \frac{1}{y-x}$$

$$y-x = \frac{1}{1-Cx}$$

$y = \frac{1}{1-Cx} + x$

Отв.

$$\begin{array}{l} 2/3: \\ \sim 169 \\ \sim 170 \end{array} \left| \begin{array}{l} y_* = ax + b \\ \hline \end{array} \right.$$